APP&S L

ST UDY DENTRE

TNPSC GROUP - I PRELIMINARY
REVISION TEST - 11
MENTAL ABILITY SOLUTIONS

1. By what number should (-4)" be multiplied so that the product becomes 107" ?

a. 2 b. =2 B d =2
3 5 2 2
(—4)_1 ® L6 6lhd 6lemrtenemil] OB, OILIHEH60T6ISH] 107 e1em SLGID?
a. 2 b. 2 e’ 4. =2
3 5 2 2
Explanation:

Let x should be multiplied by (-4)™ to get the product equal to 10~
(—4)" xx=10"
=>-x/4=1/10

[ Since, a™ =i]

m

=>x=4/10
=>x=2/5

1-3x E
2. If [EJ = (%j , then find the value of x

q
a. 47! b. 3™ c.2” d. 1
1-3x >
[ﬁj =[ij oTed60 X-601 LOFIIL|E SHIT6uIsb.
q p
a. 4~ b. 3 c.2” d. 1
Explanation:
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1-3x 1 1-3x 1
ona (2] 2) - [1]"-(2)
q p q q

Since bases are same, exponents are equal.

1—3x=—l
2
2—6x=-1
6x=3
1
xX=—
2

Carpenter A takes 15 minutes to fit the parts of a chair while Carpenter B takes 3
minutes more than A to do the same work. Working together, how long will it take
for them to fit the parts for 22 chairs?

a. 90 Minutes b. 3 Minutes c. 180 Minutes d. 200
Minutes

SFFT A opeeuT @ BIBBIWIT UTEmIBMET CUTHSHSH 15 HIULFmS6T dBSHHD
CaretdmnT. 918% Galmevenwid GFuiw HFsT B opemeu sHFsm A 3 al 3 BHIOLBisHeT
FBHIHVTH  6IHHSHIS  CaTendmIT. @meumd Qamenihdl  CouemevenwtF  Cauigmn 22
BTBHTEVIHTS LITSHBISM6NL QUT(hHSH 6leuayene GmILom@LD?

a. 90 P mser b. 3 MbLmiser c. 180 HIOL MibeiT d. 200 PO misert
Explanation:

Solution:
Time taken by A to fit a chair = 15 minutes
Time taken by B = 3 minutes more than A

=15 + 3 = 18 minutes
1

15

B's 1 minute work = %

- A's 1 minute work =

(A + B)'s 1 minutes work = % - %
3 115,18
5,6,
LCM=3x5x6
= 180
[APP@ Lu]
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12 . 022 _ 22 _ 1
180 = 180 180 90

. Time taken by (A + B) to fit a chair

_ 1 _ 90 -
—I—Hmmutes

0

.. Time taken by (A + B) to fit 22 chairs

= % x 7272 = 180 minutes
_ 180
60

= 3 hours

4. Neelaveni goes by bi-cycle to her school every day. Her average speed is 12km/hr
and she reaches school in 20 minutes. What is the increase in speed, if she reaches
the school in 15 minutes?

a. 16 kmph b. 3 kmph c. 10 kmph d. 4 kmph

HeuBeuentl FHlebCHTHID WHleuewtiguiled UeTalSGHEF OCFsvdmer. Sleuengl gFyngf Geusld
12 #us/wenll b BHbHIHTL, SaleT UeTefledwlF OFement W 20 HblLb  SLEBa.
a6l 15 HIOILHFH6L ueTellenwls OCFHIBMLHSHTEL DieUeTH DHFfHH Gousmsld elelealene]?
a. 16 kmph b. 3 kmph c. 10 kmph d. 4 kmph

Explanation:

Let, New Speed be x kmph.

12 %20 = x =15

4 4
Lo X
»
i
x =16
Increase in Speed 16 - 12 = 4 kmph

5. In a competitive exam 4 marks are given for every correct answer and (-2) marks
are given for every incorrect answer, kalaivizhi attended the exam and answered
all the questions and scored 20 marks only even though she got 10 correct answers.
How many questions did she answer incorrectly?

a. 20 b. 15 c.10 d.5

Bmevallfl HeubHIOBTEWIL b Curliysdh GxHjaled gflwmer alewL @ 4 WHIOLIETHISEHLD,
Houprer  alewl @G 2  HICUEHISEDHD  GULPRISLILIL L 63T ST  DIMDHF)
Q60T & & (6Th b (F)LD allenL Werl S el SIUBBINT LSHSHIF gifluwiment allenLH6iT

B mbHOUTHeID, Sleuenmed 20  WHIGUeHIH6T L BHOW  CUBUPYHHH 61660, DI6U6NT
I HEUBTET ANENL BT 615HFHEN60 ?
a. 20 b. 15 c. 10 d.5
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Explanation:

Let, total number of questions answered be X.
Given that, number of correct answer 10.
Then, number of incorrect answer (X-10).

So,

(10x4) + (-2) (X-10) =20
or, 40-2X+20 = 20

or, 60-2X =20

or, -2X = 20-60

or, -2X = -40

or, X =20

Hence, number of incorrect answers
= (X-10)

= (20-10)

=10

Circumference of a circle is always

a. Three times of its diameter

b. More than three times of its diameter

c. Less than three times of its diameter

d. Three times of its radius

QAL L GHIHeT SMBmene] eleilgl 6rIGUTgHID

OIFHeT Al L SHm Ll Gumed cpeiiyl LOLHIG,

OIFHeT AL SHIHT  (pSIM L HIeDS ol DISHHLD
I Al LSHPHT clpeiipl DL HIDES QL& (FHeHBe
. OIFHOT DTHMBL GuTed 6Tyl DL MG,

o n o

Explanation:

Let, Diametre = 2r
Circumference 27zr=2rXrx

= Diametrex3.14
-.Circumference of a circle is always More than three times of its diameter

Given F1 =1, F, =3 and F,, = F.1 + F.» then Fs is

a.3 b.5 c.8 d.11
F1=1,F,=3wipw F,=F,1+F.2 eeaids Oasrhésiige Fs e
a.3 b.5 c.8 d.11
[APP9 Lu]
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Explanation:
F,=2

F,=3

Fn =Fn-1 + Fn-2

puttingn =3
=>F;=F, +F;
=> F;=3+1
=>F; =4

puttingn =4
=>F,=F; + F,
=>F,=4+3
=>F,=7

puttingn =5
=>Fs=F, + F;
=>Fs=7+4
=>Fs=11
Fs=11

8. How many terms of the series 13 + 23 + 33 + ... should be taken to get the sum
14400?
a. 120 b. 15 c.16 d. 60
13+ 2+ 3+ ... a3 Q16 e1hGHemen o pIILSM6NSH dnl lganmed FnbEHev 14400
SlenL&GLb?
a. 120 b. 15 c.16 d. 60
Explanation:
Sn = 14400
_n(n+ﬂ)_2
2

=14400

n(n+1)
L 2 _
n’+n = 240

n?+n-240 = 0

(n+16)(n-15) = 0

n=-16,15

Hence the required number of terms is 15.

=120

\
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10.

11.
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Find the G.C.D of 35x’y’z* 49x vz, 14xy* 7

a. 7xyz’ b. 490x‘ c. 71Xy’ D. 14xyz?
35x°y'z,49x° 2 14xy° 2 651 18.0UM.60 BT6wTED.

a. 7xyz’ b. 490x°y’7’ c. 71Xy’ D. 14xyz?
Explanation:

The Greatest Common Divisor of two or more numbers is the largest number that
evenly divides all the numbers.

The best way to find Greatest Common Divisor (GCD) is to find the prime
factorization of the operands and then take the minima of all their exponents.

G.C.D of 35x°y’z*,49x yz> , 14xy° 2* =T xy7?

A metallic cube with side 15 cm is melted and formed into a cuboid. If the length
and height of the cuboid is 25 cm and 9 cm respectively then find the breadth of the
cuboid.

a.8 cm b.15 cm c. 10 cm d.12 cm

15 g5 udbs Senayeien @J o CeOTeEHHTL DT SOIFFHTOTEIH 2 (HSSULULH  (hH
SANFOFMUBLONS 2 (HoUTSHBLILBSHBSI. BSRNFOFNUBHIH G  [HOND  OBWID 2 WIFLD
weopBw 25 GFlS LBBID 9 QFLS seled HH DIHVHMHE HTCUISD.

a.8 cm b.15 cm c. 10 cm d.12 cm
Explanation:

Volume of Cube = Volume of Cuboid

axaxa=IxXbxh

15%15%15=25Xbx9
_ 15x15x15
©25x%9

=15cm

If the mean of five observations x, x+2 , x+4 , x+6 , x+8 is 11, then the mean of first
three observations is

a.9 b.11 c. 13 d. 15

x, x+2 , x+4 , x+6 , x+8 e SHyeler Fyrafl 11 erefled (IPHO CLPSIBI  HT6rDH61T6H
Gl BFFyTall HTews.

a.9 b.11 c. 13 d. 15

Explanation:

(x+x+2+x+4+x+6+x+8) /5=11

5x+20=55 = b5x=35 = x=7

first three observations are x,x+2,x+4=7,9,11

(7+9+11)/3=27/3=9

Therefore the mean of first three numbers is 9

APR& 10|




12. A sector containing an angle of 120° is cut off from a circle of radius 21 cm and

folded into cone. Find the curved surface area of the cone. (Take 7 = g)

a. 462 sq.cm. b. 231 sq.cm c. 616 sq.cm d. 662 sq.cm
21 Qa6 suypeTen @ ol L SHHeVmhaH 120° eiouids Bsmewid G&ETewi @  aul L
CamewiiL@dHemw Caul 9OWIBHS!, DIHET HIHIGHMET RSIBMSHH @H  FnlDUTSHSIT6V,

SHMLEHGD DL GUMETLITLIENLIS SHTEmwIsH. (7r=7 616315 )

a. 462 sq.cm. b. 231 sq.cm c. 616 sq.cm d. 662 sq.cm
Explanation:

2ar

Area of Sector = Curved Surface of a Cone

ixmz 2120, 22 o1kl
360 360 7
=462 sq.cm

13. A solid wooden toy is in the form of a cone surmounted on a hemisphere. If the

radii of the hemisphere and the base of the cone are 3.5 cm each and the total
22

height of the toy is 17.5 cm, then find the volume of wood used in the toy. (7 =7)
a.296.5 cm3 b. 275 cm3 . 269.5 cm3 d. 297.5 cm3
QM SHewio  LJLGUTDLWITEIEH  DmISHCHTaTHHle  Ged gnlb| Senewihsd 66D
o 66N SIMTHGHTEND  IOBWID  Fnld] pBlweuBpllest b 3.505.15.  Guoguid
Oumbenouledr  QoThe 2 wgb 175  QF15  eaelled  HUCUTDMWL  HwmildasL
LWSTUBRSSUILL L 10JSHIT ST DI6TeneUd  HT6ub. (75:%)
a. 296.5 cm3 b. 275 cm3 . 269.5 cm3 d. 297.5 cm3
AP L |
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Solution Hemuspherical portion Conical portion
Radius, »r=3.5¢m Radius, » =3.5am

Height, h =17.5—-3.5=14cm
Volume of the wood = Volume of the hemisphere + Volume of the cone

2;‘:; —I——:.‘f?

3 3
_ 7 (2r + h)

—17.5cm ——

’%
- 3?2 *-52‘3-5 % (2% 3.5+ 14) = 269.5

Hence, the volume of the wood used in the toy = 269.5cu.cm.

14. An amount of Rs. 2430 is divided among A, B and C such that if their shares be
reduced by Rs. 5, Rs. 10 and Rs. 15 respectively, the remainders shall be in the ratio
of 3:4:5. Then, B's share was :
a. Rs. 605 b. Rs. 790 c. Rs. 800 d. Rs. 810
52430 A, B, C gpdlui ewpaumeb@d UdibaHeisbsliibdng. A uledmbs o 5 oub, B
odmbal b 10 mud Celmbal oh. 15 U SPHSHTEL, DiaITH6T CUDID CFHTensHeres
A& HIb 3:4:5 el BHBGWD L h 2430 M1 IfGHHTe0, B-ai1 LMIEG eT6sTen?
a. Rs. 605 b. Rs. 790 c. Rs. 800 d. Rs. 810
Explanation:

Answer: Option D

Explanation:

Remainder = Rs, [2430 - (5 + 10 + 15)] = Rs. 2400.

: | .
. B's share = Rs. |(2400 ﬁ} + 10| = Rs. 810.

15. 20 litres of mixture contains 15% alcohol and the rest water. If 5 litres of water be
mixed with it, the percentage of alcohol in the new mixture would be..
a.18% b. 15% c. 6% d. 12%
20 UL OFTeWIL 6@ SHevenaluled 15 FHAIHID LeOSABTID LFHLD BHHLD 2 6iTeNHI.
oFev  Gogd 5 elLT pT Csreslubadba  eeled HHw  Heveweuulled o aiten
SLELHABTEIET FHAIBHLD 61611667
a. 18% b. 15% c. 6% d. 12%

APR& 10|
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16.

17.
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Solution
Alcohol (15%) Water (85%)  Mixture

3ltr 171tr 20
+51tr +5ltr
3ltr 221tr 251tr

Percentage of Alcohol = %x 100 =12%

Find the S.I. on " 12,000 from May 215t 1999 to August 274 1999 at 9% per annum.
a. I126 b.X 2226 c.< 216 d. I 2216
12,000 && 9% eumL eullg aisbd 21 Go 1999 emh& 2 DHer0G 1999 eueny

SHMLSGLD HENUL 19N SHT60TH.

a. 3126 b.X 2226 X 216 d. ¥ 2216

Solution:
Given: P=T12,000 n=May 215t 1999 to August 2nd 1999

73 days© [E = lymrJ
BT May = 11 days
Simple Interest =1 = Pr June = 30 days
100 . July = 31 days
= 12,000 x & x = August = _1 days
100 5 Total = 73 davs

24x9 =T 216

. : 9 .. .
Find the rate percent at which, a sum of money becomes Ztlmes in 2 years.

a.62.5% b. 32.5% c.12.5% d. 58.5%

QH DIFTRIH 2 GU(HL 6V %LDIJBJBSF[&B HGHOILDENED, DIHET QALY IS FHLD 6l6lal6Te ?
a. 62.5% b. 32.5% c.12.5% d. 58.5%

Explanation:

\J
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18.

19.
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%100

5
R% = N x100 = % x100 = §X100=62.5%

Sangeetha borrowed Rs.8,000 from Alex for 2 years at 12% % per annum. What

interest did Sangeetha pay to Alex if the interest is compounded annually?
ax 2,125 b.X 2,000 c. X 2,500 d. X 2,800

gRISSHT 5.8000 & HO6VHIFL LD 12%% LB Uy aIHHHL MBI EHHG HL 6T
QUTRISIITT. FRISHT HOVHFBEG ST Geuewigul eIy 6l6lel6Tey?
al 2,125 b.< 2,000 c. < 2,500 d. ¥ 2,800

Explanation:

C.1for first year=8000x % =1000

C.Ifor Second year:1000+1000><% =1000+125=1125

C.IforTwo Years=1000+1125=2125

The cost price of a refrigerator is Rs. 16,800. Ranjith wants to buy
the refrigerator at 0% finance scheme paying 3 EM., in advance.
A processing fee of 3% is also collected from Ranjith. Find the total amount paid by
him for a period of 24 months.

a. 700 b. 18900 c. 17,500 d. 19,404

R GefTgnsel Gulpuis almev @5h.16,800. @rehdld @z 0% ealllpd L G0
QIMRIG  I(HIOUBSHBIT. 3  1DTH (DT  HEUMMIHMETUD  HHBmrT. &bouel 3%
BOL (PemBEF OF6ve] 6IBHHS OFTAISH @GBS 6lelled, 24 ITHEBEHEHEG aUT OCFIHD
Gouemiigul QOTHSH CGHTMHMWIULD HT6T6YLD.

a. 700 b. 18900 c. 17,500 d. 19,404

\
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Solution:

D

Explanation:

Let a+b=x
Given:
x> +9x+14

(x+7)(x+ 2)

11 | Page

WCEeSKIn A
AR e w1 | =

\dvance

- The amount to

Hence. the E.M.]

(a+b+7)(a+b+2)

www.appolosupport.com PH: 9840226187

Number of month

T 16,800
:
10 ) y "'JH"J- -
3% of 16,800 16,800 = 5504
3 1 0 %
Principal + Interest
v
MNumber of months
700
16,800+ 0 | 6800
<700
F, A
24 2
paid JO0 % 3 2 100
paid = Principal + Processing fee + Advance EM.L

16800 + 504 + 2100 719.404

1s F 700, and the total amount paid by Ranjithis 19,404,

20. Factorize the following.
(@+b)2+9(@+b)+14
a. (at+b+7)(atb+2)

c. (a+b+7)(a-b+2)
LevTeu(heueTeuBenBa  SHTeulLILIHHSHIS.
(@+b)2+9(a+b)+14
a. (atb+7)(a+b+2)

c. (a+b+7)(a-b+2)

b. (a + b + 6)(a+b+3)
d. (a+b+8)(a+b+2)

b. (a+ b + 6)(a+b+3)
d. (a+b+8)(a+b+2)

\J
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21.

22.
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If x=+/3+1 find the values of (x—gj
a.3 b.2 c.5 d.4

2
x=+/3 +1616M60, (x—zj -1 OFHILYDH  HTENISb.
X

a.3 b.2 c.b5 d. 4
Explanation:
x=+3+1

L__ 1 3-1_\3-1_+3-1

x B3+l 3-1 3-1 2
2xl:2x*/§l_1:\/§—1
X

x=2=(J3+1)=(3-1)=2

X

2
(x—zj =2"=4
X

If the area of the AABC is 68 sq. units and the vertices are A(6, 7), B(-4, 1) and C(a, -
9) taken in order, then find the value of a.

A(6, 7), B(-4, 1) wspib C(a, -9) aydlweaupBeams (peoensemmasd Garewi AABC —er Lyl
685. SIVGSH6IT 616360, A-6I1 LOFHILIGNLIS BHIT6wIb.

a.3 b. 4 c.2 d. 6
Explanation:
1
Area of the AABC= E(xl (3= >3)+x, (v =) +x (v, _yz))
1

5(6(1+9)—4(—9—7)+a(7—1)):68

%(60+64+6a):68

60+ 64+6a =136
6a=136-124
6a=12

a=2

\
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23.

24.

25.
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If (x+1) and 2(x+1) (x?-4) are GCD and LCM of two polynomials and if one of the
polynomial is (x+1)(x-2) then the polynomial is

a. x>-4 b. (x+1)(x+2) . x+2 d. 2x2+6x+4

(x+1) wBp 2(x+1) (x*>-4) eyPweuBdens (WedBGW  15.60uT.en  WBBID  WB.OUT.D 66T
Qaremi. ewi(h Leoemiish Camemeusener eeiml (X+1)(x-2) siefled mGBTHm Cameney
e

a. x>-4 b. (x+1)(x+2) c. x+2 d. 2x2+6x+4

Explanation:

LCM xHCF = Product of Two Numbers
2(x+1)(x2 —4)><(x+1) = (x+1)(x—2)xOther Number
2(x+1)(x+2)(x—2)><(x+1)

(x+1)(x—2)
=2(x+1)(x+2)

=2x"+6x+4

Other Number =

Six friends A, B,C,D,E and F are sitting in a row facing towards North. C is sitting
between A and E. D is not at the end. B is sitting immediate right to E.F is not at the
right end. How many persons are there to right of D?

a. 4 b. 2 c.3 d.1

A, B, C, D, E oBpib F eeoi mewiuiser b euflvguns e dg Coress SiofbHg
o eiteniadit. A wppib E &3 Beiruled C o etemit. D abhs s fulaibd Sevenev. E
&G 2 LeQuitsd aleugipid B o etenmt. aleugl sl duied F Bedemev. eaiadiled, D &
aueVLIBLD eTHHement GuiT o _eiTereorT?

a. 4 b. 2 c.3 d.1

Explanation:
Sequence follows: FDACEB
Four persons are there to right of D.

If - stands for ‘division’, ‘+* for ‘multiplication’, ‘+” for ‘subtraction” and ‘x" for
‘addition’, then which one of the following equation is correct?

a. 4x5+9-3+4=15 b. 4x5x9+3+4=11
C. 4-5+9%x3-4=17 d. 4:549-3+4=18
eaIUG  ‘QUGHHHMeOUD’, ‘+° eleilgl  ‘GUhBBMeOUD’, ‘7 el ‘BLOSHHeMeOU LD’

LBBID X el ‘Gl Lemeou]d’  GBlGB@GLD elelev, LleTeauheuaTeuBmIeT 6hdH @
Fwaut® Fhlwmergl?
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b. 4x5x9+3+4=11

a. 4x5+9-3+4=15
d. 4:5+9-3+4=18

C. 4-5+9%x3-4=17
Explanation:
Given: 4x5+9-3+4=15

4+5x9+3-4=15

4+5x3-4=15

44+15-4=15
15=15

Option a is correct.

\
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